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775U EF () 500 500 0
1. 05 H| 500 500 0
8. [21AFIA Az F7(F) 80 80 0
1. 05 H| 80 80 0
2. AFAIgHEE 8,170 9,111 -941
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3. A AR 50,827 49,573 1,254
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3. (=1 m A 240 240 0
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4. (2187449 2,756 1,636 1,120
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2. QA £ 1,449 2,608  -1,159
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1. a9 388 400 -12| S Z o a ] o -12,0009+13)= -12,000
3. A RS 648 658 -10
1.[z]Fd S 48 58 -10
1. 0529 H 48 58 -10|1199F A A &5 71 10,0009 x13]= -10,000
2. [Z]WEFHAG NS 600 600 0
1. 05291 600 600 0
3.8kl ¢ 22,872 22,872 0
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3. EAALYG A FIN| 0 140 -140 |82l 3] 1] : -140,0009) x13]= -140,000
5. HF 4] 5,000 5,000 0
2. (21D SR FRAR (S au50D |22 74)000 0
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3. [Z1FE s AR WA 2998 1,000 1,000 0
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4. (21 FGEAT FRARY (235 A 280 0
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3,094 9,250 9,500 -250 T o] &) 1 25,000 %109 = -250,000
IR R o) 1,200 1,200 0
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